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01. 0000050000000 vx[5]0
double vx[5] = {0.5, 1.6, 2.7, 3.8, 4.9}
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#include<stdio.h>

int main(void){

int i;
double vx[5]={0.5,1.6,2.7,3.8,4.9

for(i=0; i<5; i++)
000 printf(000000

)i

return O;
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vx[0]=0.5
vx[1]=1.6
vx[2]=2.7
vx[3]=3.8
[4]1=4.9
\\vx

02. 000050000000 vwp00000
Ooooooooooooooooooooon
000 for000000O0O0OOOOODODOOOO
ooOooooo

(,-D 0o ~
1.414

1.732

2.236

2.449

2.645

vx[0]=1.414

vx[1]=1.732

vx[2]=2.236

vx[3]=2.449

vx[4]=2.645
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0000000 (for0)00000000000
1,2 3,--,1000000000000000
oooooo
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array[0]=1
array[1]=2
array[2]=3
array[3]=4
array[4]=5
array[5]=6
array[6]=7
array[7]=8
array[8]=9

array[9]=10

04.00000 10000 (array[10) 00000
00000 (for0)0000000000000
2,4,6,---,2000000000000000
oooooo
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array[0]=2

array[1]=4
array[2]=6
array[3]=8
array[4]=10
array[5]=12
array[6]=14
array[7]=16
array[8]=18
array [9]=20




05. 0000010000 (array[10)) D 0000
array[0]0 1000000

int array[10];
array[0]=1;

000000 (for0)0 00 Darray(l] 0000
002, 4,8,---,512000000000000
00000000
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array[0]=1
array[1]=2
array[2]=4
array[3]=8
array[4]=16
array[5]=32
array[6]=64
array[7]=128
array[8]=256
array[9]=512

06 00000 10000 (array[10) 00O
0000000 (for0)000000O00000
10, 9, 8,---,1 00000000000000
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array[0]=10
array[1]=9
array[2]=8
array[3]=7
array[4]=6
array[5]=5
array[6]=4
array[7]=3
array[8]=2

array[9]=1

O07. 000005000 arraylfs)0000O0O
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int arrayl[5] = {2, 3, 5, 7,11}
0000500000 (array2(5))00000O0O
0000 (for0)000D0DDO0O arrayl0 OO
U0 array20000000
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arrayl[0]= 2, array2[0] = 2
arrayl[1]= 3, array2[1] = 3
arrayl[2]= 5, array2[2] = 5
arrayl[3]= 7, array2([3] = 7
arrayl[4]=11, array2[4] = 11

08 00000 HLO000 arrayls)O00O00O0O
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int arrayl[5] = {2, 3, 5, 7,11}
0000500000 (array2[5]) 00000 D
0000 (for0)0000D00O0O arrayl 00O
U000 array20 000000
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arrayl[0]= 2, array2[0] = 11
arrayl[1]= 3, array2[1] = 7
arrayl[2]= 5, array2[2] = 5
arrayl[3]= 7, array2[3] = 3
arrayl[4]=11, array2[4] = 2
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09. 000005000 array[5|0 00000
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int array[5] = {2, 3, 5, 7,11}
gooboboboobobbbodooooooon
goggd
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array[0]=11
array[1]= 7
array[2]= 5
array[3]= 3
array[4]= 2
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0000000005000 (array[s)) D OO
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10000oOooooost
200000000017
300000bOobos3
40000000005
500000000013
array[0]=31
array[1]=17
array[2]=53
array[3]= 5

array[4]=13
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20003
3b0bu1l
400065
500013
KoKk ok ok ok ok
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012. 000008000 array8000O0O0O
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int array[8] = {3, 1, 4, 15, 9, 2, 6, 5}

goobbobooobobbboodoooooood

ooooo

s gogd

array[0]= 5
array[1]= 6
array[2]= 2
array[3]= 9
array[4]=15
array[5]= 4
array[6]= 1

array[7]= 3
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013. 00000 10000 (array[10]) 00 O
0000000 (for0)0000C0000000
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array[0]=1
array[1]=3
array[2]=5
array[3]=7
array[4]=9
array[5]=11
array[6]=13
array[7]=15
array[8]=17

array[9]=19
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